TNPSC Mental Ability Question & Answers

Test 2

1. Paulson spends 75% of his income. His income is increased by 20% and he increased his
expenditures by 10%. Find the Percentage increase in his savings.

(A) 27%
(B) 50%
(C) 30%
(D) 28%
Answer: (B) 50%

LITLEEST  6T60TLIUT  SIUTGH 6U(BLOMETH S0 75% ClFev6 | QFWISMTeoT.
SI6UETTH| QUBLOMEID 20% SHSFEHSULBGEME. S6UT H61G ClFevemned
10% SiFsH&EMMeT 6TelleL Seueng GHFLAILND eTHHemenT aN(P&HST(H
SB[ &AM )2

(A) 27%

(B) 50%

(C) 30%

(D) 28%

edlemL_: (B) 50%

Solution :

Let us take income =100

Expense = 75

Increase in income = 20%



https://play.google.com/store/apps/details?id=in.billiontags.winmeen
https://www.winmeen.com/tnpsc-maths-material/

So the increase income =120
Earlier saving =25%
Increased total saving = 37.5

So increased saving = (new saving —old saving) = (37.5 - 25) = 12.5
Percentage increased in saving= % *100 =50%

2. What is the Simple interest earned on Rs. 20,000 invested 3 month at a rate of 5% per
annum?

(A) Rs. 250/-
(B) Rs. 100/-
(C) Rs. 125/-
(D) Rs. 500/-
Answer: (A) Rs. 250/-

. 20,000 @ 5% WD QUL lg QGHSHH 3 LTHRSEHSHESG SH6oll 6l g
WITG|?

(A) €. 250/-
(B) €I 100/-
(C) €I 125/-
(D) €. 500/-

lemL: (A) €. 250/-

Solution:
P = 20000

N=3months=i=l
12 4

R =5%
g = PNR 200004541 _ oo opg)
100 100%4

3. x®+x*—7x—3is divided by x — 3 then the value if remainder is
(A) 16
(B) 14




(C) 12

(D) 13

Answer: (C) 12

x> + X - Tx - 3 6T6NILGEMET x - 3 YL QUGHGL CUTH HemLSHEGLD
B uNest LS

(A) 16

(B) 14

(C) 12

(D) 13

elenL: (C) 12

Solution:

Given x-3=0

Then x=3

Substitute x=3 in egn x3+x2-7x-3=0

33 + 32 — 7(3) — 3 = reminder

27+9-21-3=-12

So the remainder is 12.

4. What percentage of numbers from 1 to 50 have 0 or 5 in the unit’s digit?
(A) 5%

(B) 10%

(C) 15%

(D) 20%

Answer: (D) 20%

1 (PHL 50 6UMJ 2 61161 6T660IGHEN60 €R60TMMD QEVEHHHEL 0 3I6LELG)
5 2 616N 6T6IISH6M6IT FHOIHLD UITG)?

(A) 5%

(B) 10%

(C) 15%

(D) 20%




elenL_: (D) 20%

Solution :

10,20,30,40,50 were the numbers having 0
5,15,25,35,45 were the numbers having
Total numbers having 0 and 5=10

Total numbers from 1 to 50 = 50 numbers = 100%

For 10 numbers percentage = —*100 = 20%
5. Find the HCF of -, -, —and —

(A) —

(B)—

(O ke

(D) —

Answer: (B) —

8. QuIT. & &T6TuT& =, 2 > and —
(A) —

(B)—

() —

(D) —

edlemL: (B) —

Solution :

HCF OF 2,8,16,10 =2
LCM OF 3,9,27,81 =81




6. Inatwo digit number, the sum of digits is 11. If the digits are reversed then the new number
IS 9 less than the given number. The given number is

(A) 47

(B) 29

(C) 74

(D) 65

Answer: (D) 65

@@ Q@ Q6055 cTauuI6N6T @eVHHMISATE Fa(hHEL 11. SiHG 6T6UT606U0T
@LwrOo QLWL Curg HL &G USw 66, Q&THSSLILILL
6T600T6EM6TIT QL 9 G616 6T6uTl6L CQBM(HHSHLILILL 6T6H0T LLITE)?

(A) 47

(B) 29

(C) 74

(D) 65

edlemL_: (D) 65

Solution :

65 = 6+5 =11

When reversed 65 it will give 56 and it is less than 65 by 9.

So the answer is 65.

7. A man earns Rs. 20 on the first day and spends Rs. 15 on the next day. He again earns Rs. 20
on the 3" day and spends Rs. 15 on the fourth day. If he continues to save like this, how soon
will he have Rs. 60 in hand?

(A) On 17" day
(B) On 22" day
(C) On 30" day
(D) On 40" day
Answer: (A) On 17" day

(5 L6NGH6T (LPGH6EL BHTafled €h. 20 FLTHS G AHHSHS BT6T ¢h. 15 Q&6
QEuMTF. evor(HLD CLPGITMITLD [HIT6NT €16 20 FLODUITES G| HITCITSITLD [BIT6IT €Ih. 15




Qv &mMy. QeueurGm sieuy CFLOILmMUS QHTLFHMIT 6160160 €MH. 60
sTeleETE) | FHALD S6UTEH 6m&UN6L Q\(H&HEGLD?

(A) 17°8 praflev

(B) 22 & perileL

(C) 302 perilev

(D) 40°® preev

alenL_: (A) 1779 pmefleL

solution :

for 2 days he will have Rs.5 in hand

for 16 days = % *5=40

on 17" day he will have the salary of 20Rs = 40+20 = 60

8. Angles of a triangle are in the ratio 1 : 2 : 3 then the triangle is
(A) Equilateral Triangle

(B) Isosceles Triangle

(C) Right Angle Triangle

(D) Isosceles Right Angled Triangle

Answer: (C) Right Angle Triangle

@M (WP&HCHTONGHHT CHTEUURIGST 1 : 2 : 3 61601 N&EGHEH6L
AU D (WPSHCHTEUID 6T6U6UME (LD SHECHITETIILD?

(A) §O0LES (LPECHITEOTLD

(B) Q(H&LLSES (L SCHTEUIILD

(C) QERIGHTeTT (L SCSHITETUILD

(D) @(HELUSS GFRICSHTETT (LPECEHTEIUILD
aenL_: (C) QFRICHTE0 (LPSCHITETIILD

solution :

1:2:3=totally 6 parts




6x=180

therefore x=30
X:2x:3x=30°:60° 90
so it is right angled triangle.

9. In a family, the father took - of the cake, and he had 3 times as much as each the other
members had. The total number of family members is

(A)3

(B)7

()10

(D) 12
Answer: (C) 10

1

@G GELUsH saluuerm) - UTeSL G&s sTUNESDTY.  Geum
GGU 2 mufergseneTl GUTEL eETM WLKG Sl QUMISMTY
¢t6vileL G(HLOU 2 MILTNenTsHeaflent CILDTSHS 6T6UUI6UNHMS WIMTS]|?

(A)3

(B)7

(C) 10

(D) 12

adlemL_: (C) 10

Solution:

Father had 1 part in total 4 parts=- = (1--) = 3 parts remaining in 4 parts.

and it is 3times as family members= 3*3= 9 members
so totally (9 members + 1 father) = 10 members.

10. A Rectangular courtyard 3.78 meters long and 5.25 metre wide is to be paved exactly with
square tiles, all of the same size. What is the largest size of the tile which could be used for
the purpose?

(A) 14 cms
(B) 21 cms
(C) 42 cms
(D) None of these




Answer: (B) 21 cms

3.78 BLLG&eT Hempd 525 W Siseu(pDd 2 6oLl @ LFSTL Gy
slemeyeiten  Filwimenr &I e(hHHMaEQSMeu(E LyLuiUL.  Geusior(hLb.
SIHCHTHHEHMSTS 2 LCWTHLILUGLSSHSFalqUl 6L lq60T  OSLIQUIFIWIT
SI61T6) 6T60T60T?

(A) 14 Q& .15

(B) 21 Q& .15

(C) 42 Q& .8

(D) @emeusaned epeaTmILbICLEMEL
ellenL: (B) 21 Q&.L0

solution :

3.78m = 378cm = 2#3*3*3*7

5.25m =525 cm = 5*5%3*7

common factors = 3*7 =21 cms.

11. A sector of 120°, cut out from a circle, has an area of 9 - sq.cm. Find the radius of the circle

(A)1cm

(B)2cm

(C)4cm

(D) 3cm

Answer: (D) 3cm

@(h QULLSSO0NHHE CeUllqgQUIBSSLILLL 120° 2 61161 6(H QILL &
3 . . . . .

gaml, 9 - &I Q& 15 ujlueTey 2 LU UL FH6 UTHMS

SIT6H015.

(A) 1Q&.L8

(B) 2 Q& .10

(C) 4 Q& .18

(D) 3Q&.L8




allemL: (D)3 Q&.L5

solution:

-
1]
|
*
|

,
n
w
o
3

12. A lawn is in the form of a rectangle having its sides in the ration 2 : 3. The area of the lawn is
% hectares. Find the length of the lawn.

(A)40m

(B)33%m

(C)50 m

(D) 45m

Answer: (C) 50 m

(5 LevGleuel emGTETD SiG60T LISSMIGET 2 : 3 &HHH60L 2 6ien
@(h CF6Uas allgalled 2 6Tangl. HG MLOGTeoTSH 6T LIFLIL ﬁamml_lj
61601160, G601 HETHENG ST6T0IS.

(A) 40 LS

(B) 33 % L

(C) 50 LY

(D) 45 L8

el : (C) 50 LS

Solution :

Length =2x

Breadth =3x

5000 o

A=( 2*10000 )m? = 22y
6 3

5000
2X* 3x = -




13. By selling 33 meters of cloth, one gains the selling price of 11 meters. Find the gain percent.
(A) 25%

(B) 30%

(C) 35%

(D) 50%

Answer: (D) 50%

@meuy 33 WLLF glemenw elduger cpeod 11 WBLL (H&STe
alimuenen  allemevsnil @eOmUSL QUMIFMTT, 6T6lled SiUPFH  6omu
(&ML emL &6t (hLllg ?

(A) 25%

(B) 30%

(C) 35%

(D) 50%

adlemL_: (D) 50%

Solution :

(selling price of 33m) — (cost price 0f33m) = GAIN

For each metre Rs.1

Selling price of 22m =Rs 33
% gain =2 *100 = 50%

14. Find the least number which when divided by 6, 7, 8, 9 and 12 leaves the same remainder 1
in each case

(A) 504
(B) 505
(C) 253




(D) 167

Answer: 505

6, 7, 8 9 LOMMID 12 66D 6TRUSHENMTEL  UGSHSULEGLD  QUITLpS)
6UAUM([, 6UMEBEHGL & 1 Ul &E SN 6T6H0T60600E SHIT6T01SH
(A) 504

(B) 505

(C) 253

(D) 167

elémL_: (B) 505

Solution :

When there is reminder 1 the number which ends with even digits will not come because
multiplying even numbers with bot odd and even numbers will come s even only. So 504 will not
come.

The numbers 253and 167 is not divisible by 7 and 9.
The number 505 is divisible be all the numbers and leaves the remainder 1.

15. The Traffic Lights at three different road crossings change after every 48 sec, 72 sec and 108
sec especially. If they all changes simultaneously at 8 : 20 : 00 hours, then at what time will they
again change simultaneously?

(A)8:20:48hrs

(B)8:21:12hrs

(C)8:21:48hrs

(D) 8:27:12hrs

Answer: (D) 8:27:12hrs

CUTEGUTHEH FLNGEhmE aaTsGSHeT cpeim GleueuGaum &Fmemevd
FhluLseNed WemmGU! ¢6Cleum(p 48 N6IMq.&6T, 72 66T Sl
LOMID 108 BTG &HEH&HGSL 6T TMIFEME. 606U 6T60ELMGID 8 : 20
00 LewN&efled Gy CrrgHHev LmMeormed, GG 6TUCUTE Siene
@Gy CHIHSeL TMILD?

(A) 8: 20 : 48 LDGUUTIS 6T

(B) 8: 21 : 12 LD6TON &6




(C) 8: 21 : 48 LD6UUN &6
(D) 8: 27 : 12 LD6TUN &6

elémL_: (D) 8:27 : 12 LD6TOT & 6T

solution :
L.CMOF48,92,108
48 =2 %2 *2 %2 %3
92 =2%2%2%3%3
108=2*2*3*3*3
L.C.M =432 secs

432 )
o0 7 mins 12 secs

Add 7mins 12 secsto 8 : 20 : 00 it will come as 8:27: 12 hrs
16. Find the missing number 5, 4, 8, 9, 11, 14, 14,

(A) 19

(B) 17

() 21

(D) 16

Answer: (A) 19

N(BHULL. 6160016060018 SM6001S 5,4,8,9,11, 14,14,
(A) 19

(B) 17

©) 21

(D) 16

alemL: (A) 19

Solution :

5,4,8,9,11,14,14

The numbers 5(1%) , 8(3") , 11(5™) , 14(7™) has the difference 3.
The numbers 4(2"%) , 9(4™) , 14(6"™) has the difference 5.

So the 8" place = 6™ place + 5 =14 + 5= 19




17. If x + i = 5 than the value of x3+ % is
(A) 90

(B) 110

(C) 120

(D) 80

Answer: (B) 110

x +== 561601160 x” + = UNGHT LI WITGI?
(A) 90

(B) 110

(C) 120

(D) 80

edléml_: (B) 110

Solution :
X+ % = 5 cube this egn on both sides

3, L 1 Iy
X +x3+3x( x)(x+x) 125
X3+ +3x (x +2) =125
We know x + % = 5 sub this in bove egn
x*+—+3(5) =125
x3+ 2 =125-15= 110

X

18. If V2116 = 46 then value of V21.16 + V0.2116 + V0.002116
(A) 5.106
(B) 5.116
(C) 5.122

(D) 5.221
Answer: (A) 5.106

V2116 = 46 61631160 V21.16 +V0.2116 +V0.002116 - ufedr LO&ILILY




(A) 5.106
(B) 5.116
(C) 5.122
(D) 5.221
eleml_: (A) 5.106
Solution:
\21.16 =46
V0.2116  =0.46
V0.002116 =0.046
4.6 +0.46 + 0.046 = 5.106

19. A can do a certain job in 12 days. B is 60% more effective than A. How many days does B
alone take to do the same job?

(A) 8 days

(B) 7 days

)7 % days

(D) 8 % days

Answer: (C) 7 % days

A eTeoTLe] (I Geuemevem 12 BMLSeM6L GCFWIKMITT. B 6T6oTLOU]T A
oW el 60% SIH& HmenwwjenLwiel]. HCH Geusmevemnw! B L (HLD
W &S 6155H6M6 BHTL &6 6T(HHHIS CSHTerTeuj?

(A) 8 HITL_G6IT

(B) 7 BITL_&6IT

(C) 7 BTL&6T

(D) 8 HTL_&eiT

eflenL: (C) 7 BTL&6T

solution :

A =12 days




B = 60% more efficient than A=1.6 %

%212(%) = 7.5 days

20. /729 -327="2
(A)9

B)7

(C)6

(D) 11
Answer: (C) 6
V729 -327 =2
(A) 9

(B) 7

(C) 6

(D) 11

elevL_: (C)6
Solution :
Y729=9*9*9
V27=3*3* 3
V729 -327=9-3=6

21. The least number of complete years in which a sum of money put out at 20% compound
interest will be more than doubled is

(A)3

(B) 4

(C)5

(D) 6

Answer: (B) 4

20% Gal (b eUllg eNHHHHL  MEUSGSLLULL @  C&Tms
AOGLLRGSS Ced YaugmE WENM (W TG S6T?

(A)3

(B) 4




(€)5
(D) 6
edlemL_: (B) 4

Solution :

P(1+-2)">2p

100

(o>

(12*12*12*1.2)>2

2.0736 =2

N= 4 years

22. Leela reads fh of a book in 1 hour. How much of the book will she read in 3% hours?
(A) 2 Part

(B) g Part

© g Part

(D) Whole Book

Answer: (B) % Part

6U6VIT 6T60TLIEUIT 62(1F LIS SH&S SHl6dT % LUGSlenwt 1 6wl CHISHSHeL Lig&&)l
WUy 616160 LHHHSHH60 6T6U6UATE] LG SH6mIL 3% o6ueNl GBIy HlevL
LILg. LILITI]?

(A) UGS

(B); UGS

(©)ZuESH

(D) U550 (L (LHeugiLD
allenL: (B)Z UGS

solution :




%book =1 hour
3 L =Zhours
2 2

w1

7
2 part

a+b+c

Al ®IN

23. If£=2=Sthen
3 7

is equal to

(A7

(B) 2

©);

(D)

Answer: (B) 2
a__g::

[4 +\ at+b+c . . . . . .
<=5 = 6T6ul6L ———, S &6V UMMIEL 6THMG FLOLD.

edlemL_: (B) 2
Solution :

c

wile

c=7

wile

wila

b
4

b=42
3

3+:—+7 _ % _5

24. 1t V7 —1_+\/7 +1l=a+ bV7 find the values of a and b
V7+1 N7-1

(A)a=0,b=28/3

(B)a=5/3,b=0




(C)a=8/3,b=0
(D)a=0,b=5/3
Answer: (C)a=8/3,b=0

V7-1+V7+1=a+bv7 6601160 a LDMMILD b-UTG LOSHIILIGHEMENT SHIT6TUIS.

v7+1 Vv7-1
(A)a=0,b=8/3

(B)a=5/3,b=0
(C)a=8/3,b=0
(D)a=0,b=5/3
elevL_: (C)a=8/3,b=0
Solution :

V7-1 , V7-1 + V741, V741
V7+1 V7-1 V7-1 V7+1

(7) +1-2(v7) | (V7) +142(y7)

7-1 7—-1

8-2+/7 +8+2\/7 _ 16
6 6

a+hﬂ=§
3

sub b=0

thena=§
3

(a=§,b=0)

25. 11,16, 24, 35, 49, ?
(A) 62

(B) 63

(C) 64

(D) 66

Answer: (D) 66

11, 16, 24, 35, 49, ?

(A) 62

(B) 63




(C) 64

(D) 66

elémL_: (D) 66

Solution :

11,16,24,35, 49

16-11=5

24-16=38

24 -35=11

49-35=14

The difference between each number is 3 .
To find the next number add 3 + 14 =17 add this 17 to 49 = 17+ 49 = 66

26. The number of horses on a farm is twice the number of ducks. The total number of feet of
ducks and horses counted together is 70. The number of ducks is

(A) 5

(B) 7

(C) 14

(D) 35

Answer: (B) 7

€2(Ih LI6uoleneuuileL 2 616 G Slemy&erlest 6T6Hu6u0N&56ma 6UITS &I 6rTl6or
6T6u0I6uTN SemSBemILIL GUTeL @\(F L MIG. euMdl WOMID GHengsetest
QLOITHG UMHHIGEMET 6T6U0T6TITI6UNTED 70. 6UITEGHISHETI60N 6T6Hu1600T15H6ME
6T60T60T?

(A) 5

(B) 7

(C) 14

(D) 35

elemL: (B) 7

Solution :




Horse =y and duck =x
Horse = 2 times of duck

Y = 2x

Ducks hs 2 feet nd horse hs 4 feet
2x+4y =70

Sub y=2x in bove egn

2x + 4(2x) =70

2X + 8x =70

10x =70

X=7

Thensub x =7 in y=2x
y=2(7)

y =14 (horse)

27. At present Abi is twice as old as Reeta. After seven years their age difference is 5 years.
The present age of Reeta is

(A)5

(B)7

©9

(D) 10

Answer: (A) 5

QeiTm SILNuN6T euwIF FLLION6HT euIeng CUTL (@ LLMKIEG. 7
QU(HLMISEHSHES LN6OT6oI] SieUTSHeNesT Ui NGWITFLD 5, 6T6ofleL
FLLmeN6T @6iTemmUl QWIF| 6T60T60T7

(A)5

(B)7

©9

(D) 10

edlemL: (A)5




Solution :

Reetaage = x +7

Abi age =2x + 7

Age difference =5

2X+7—(x+7)=5

2X+7—-X—-7=5

X=5

28. Which of these numbers does not remain the same when turned upside down?
(A) 689

(B) 66166

(C) 98186

(D) 981186

Answer: (B) 66166

SCLp HMEMILD 6T6HMGAT6L 618 HMLELTSH S(HLLN UTHSSHTEYILD
LOMTMTE HET6MLD @6LEVITH 6165012

(A) 689

(B) 66166

(C) 98186

(D) 981186

edlemL_: (B) 66166

Solution :
From left to right it will be as =66166
From right to left it will be as =66166

29. If 21% is divided by 8& the answer is

1639
(A =5

1639
(B)—

1693
©




149

(D) 45

Answer: (B) %

212 6T60TLIENS 8— 2p60 QUGSSSHTL HemLLILG|

1639
( ) 633

1639
(B)

1693
©)

149

(D) 4

1639
62“66)L_Z (B)'g;;

Solution :
2 149

21- =
7 7

1 89
g— =2
11 11

623

30.1fa:bis2:3,b:cis4:3andc:dis2:5thena:dis
(A) 18 : 45

(B) 16 : 45

(C)8:45

(D) 16 : 18

Answer: (B) 16 : 45

a:b6T6OTLIG 2 : 3, b: c 6T6OTLIG) 4 : 3 LOMMLD ¢ : d 6TEOTLIG) 2 : 5 6T6vfl6L a : d
6T60TLIGH 60T LOSILIL| WIT&)?

(A) 18 : 45

(B) 16 : 45

(C)8:45




(D) 16 : 18
elénL_: (B) 16 : 45

Solution :

16:24:30:35

31. Traffic lights at three diferent junctions change simultaneously at morning 8.00 am. The first
light changes once in 30 seconds, the second once in 72 seconds, the third once in 45 seconds.
After 8.00 am which is the next time they change simultaneously?

(A) 8.03 AM

(B) 8.06 AM

(C) 8.10 AM

(D) 8.12 AM

Answer: (B) 8.06 AM

WeaGaum &memev FhHLGHaNeL 2 6o FMemev UGHSTLUL Nem& @6l
SMmeL 8.00 LO6NSHG ¢CH CHI&HHeL LOMMMLDENL SH6TMETT. CLOGIIIMITLD
WemmGw! 30 NBMG&EG @ (Wem,72 aNBMesHE @H (WM, 45
AbMgsH@ @@ (Wem LIMmIKeTmest. 8.00 (WU. L6ty LE6woIEHLD
@epeTmId eTUAUMT(PG)] Gr FLWHHL LOTMID?

(A) 8.03 (LpU

(B) 8.06 (LpLI

(C) 8.10 (LpLI




(D) 8.12 (LpU
elénL_: (B) 8.06 AM

Solution :

30=2*3*5
72=3*3*%2*2%*2
45=3*3*5

L.C.M =360

360 = 6mins

8.00 + 6mins = 8.06 AM

32. A sum of money triples itself at simple interest 8% per annum over a certain time. Find the
number of years.

(A) 8 years

(B) 15 years

(C) 23 years

(D) 25 years

Answer: (D) 25 years

@@ GMUILL QFHTMSWITES 615H5HM68 6U(HLMISaT 8% Geufleul lg
B GHH6L CLPETM| WLRISTS HHSFHEGLD?
(A) 8 eU(IHL_MRIG6N

(B) 15 6)(Ip L_RIG6IT

(C) 23 (IR L_RIG6IT

(D) 25 6U(IHL_RIS6IT

e6mL_: (D) 25 6U(Ih L RIG6IT

SOLUTION :

Let us take p=100
then SI =200




R=8%
N=?

PNR
Sl=—
100

100+xN+8
100

200 =

N= % = 25 years

33. The Percentage of literacy in a village is 49%. Find the number of illiterates in the village, if
the population is 7600

(A) 3876

(B) 3724

(C) 3742

(D) 3867

Answer: (A) 3876

@b SMGHSHIEL 2 6Tam COTEHSH &S CHTeMS 7600. JF6L &HeLE
siMe] QUMMEUTSHET 49% ¢eT6lleL  &evadl  SiMley  CUMTHeUTSHerTesT
6T6UUTGTUTIH6M S LLITG)?

(A) 3876

(B) 3724

(C) 3742

(D) 3867

adlemL_: (A) 3876

Solution :

Total population = 7600
Literacy = 49%

100% = ( Literacy + illiteracy)
100% = ( 49 + illiteracy)
Iliteracy = 51%

1%=76




76 * 51 =3876

34. Calculate the radius of a sector whose area and arc length are 60 cm? and 20 cm respectively
(A)3cm

(B) 6 cm

(C)4cm

(D)5cm

Answer: (B) 6 cm

@@ UL &CHmemL UGSHuler uply 60 Q&8 * 1561 66006
e 20 Q&.L8 661D YLD SHMETIIS.

(A) 3Q& .10
(B) 6 Q&.LO
(C) 4 Q&.L8
(D)5 Q&.L8

Answer: (B) 6 Q& .10

solution :

area = 60 cm?

arc length =20 cm
area=length

(part / whole)= (part / whole)

60 _ 20
nr?  2mr
R=6

35. If an investor wants to receive Rs. 10,000 as simple interest every month and rate of interest
is 8% per annum then the amount he should invest is

(A) Rs. 25 lakhs
(B) Rs. 20 lakhs
(C) Rs. 15 lakhs
(D) Rs. 8 lakhs




Answer: (C) Rs. 15 lakhs

@M WHOLLTeT] Uy wrsh el el lguimsd ¢h. 10,000 QUMD
aNGLUSOTT. eully e YETHSG 8% 61l oeuf WHO®
Q& Geuettig Ul GCl&Tend 6T60T601?

(A) €. 25 UL_&LD

(B) €Mh. 20 6UL_&LD

(C) €. 15 6VL_&LD

(D) €. 8 UL_&LD

elemL_: (C) €lp. 15 6VL_&LD

solution :
S1=120000
R =8%

N =1 Year
P=?

PNR
S =—
100

120000 = Z2&1
100

12000000

= 1500000

P =15 lakhs

36. If interest is compounded every six months a principal of Rs. 8,000 at 10% rate of interest
will amount to at the end of 18 months.

(A) Rs. 9,000
(B) Rs. 9,156
(C) Rs. 9,261
(D) Rs. 9,282
Answer: (C) Rs. 9,261




Sln] PO(HES (b (WPMMD Qllly SIFIL 60T CFISHSLILILLT6L (I
8,000 &@& ooy el lg B 10% eiglulg, 18 LISRSEHHG L6
QP &0l G5 ABTmS

(A) €. 9,000

(B) €Ib. 9,156
(C) erp. 9,261
(D) €1p. 9,282

ellemL_: (C) €Ip. 9,261

Solution :

P=8000

N=18 months (compounded half yearly)so for 6 months n=1
R=10% (for 1 year)

R=5% (for 6months)

For 1- 6 months =22~ = 8229 400

100 100
P=8000 + 400 =8400

pnr _8400%5 _

For 6 — 12 months=— = =420
100 100

P=8400+420=8820

For 12-18 months=22L =8829*> — 441

100 100

p=8820+441 = Rs.9261

37. First pipe can fill a tank in 30 minutes. Second pipe can fill the same tank in 60 minutes. A
third pipe can empty the same tank if it is full in 45 minutes. If the tank is empty and all three
pipes are open in how many minutes will the tank fill?

(A) 30
(B) 36
(C) 42
(D) 50




Answer: (B) 36

WPFHL GMI @  C&MLigenwl 30  HOLMmSeafled  Higly.
@uewiLmeug GLMLU SI1CH QsMLigenul Higuu 60 HOILLD Y GLD.
cpeTmmeudl Gmi Higufiul QsTllgemwt &medl Q& 45 HIOIL LD
SGW. QHMLlg STOWNS @QEHEH QLdepsim GLPMUSEHD  Gh
FLOWSHSL ShG QILLLLLTD, HSOSTLlq 6THFHemerT HILOIL MhiGerlev
HiyyLD?

(A) 30

(B) 36

(C) 42

(D) 50

eNemL: (B) 36

1 1 1 tank
—_———_

30 60 45 minutes

6+3—4
180

5

180

1 _ tank

36 _minutes

= 36 mins

38. The Binary number 1011 is equivalent to the decimal number

(A) 10

(B) 11

(C) 12

(D) 13

Answer: (B) 11

1011 61601 @(HLE GSMOWIL (B eT6vor6mNMEG 6METUUITEST SEFLD 616801

(A) 10
(B) 11




(C) 12

(D) 13

edlemL: (B) 11
Solution :

Binary Decimal
1010 10
1011 11
1100 12
1101 13
Answer is 11.

39. A, B together do a job in 6 days, B, C together do the same job in 10 days, C, A together do
the same job in 7% days. If all three work together in how many days will they complete the job?

(A) 5 days

(B)4%days

(C) 4 days

(D) 3 days

Answer: (A) 5 days

AB S8 Q@meu(pd @ Geoumevenil 6 BHIL&GaMN6L CFIG (Pl LILIY.
B, C & @Qumeuml SICH GCeusmevenit 10 BIL&efed CFIIS)
WUy, ¢, A S Qeupld Caihg ohG CeusmevemiL 7%
BTL&6afleL CEIg (WlgLILf eTeofled cpeu@bld CHIbHEH eUCaUmeVemIL
615 H6m60T BHITL&GerlleL GCFUIG (LPIgLILIT?

(A) 5 HITL_G6IT
(B) 4 BTL&6T
(C) 4 BTL_&61

(D) 3 BITL_G6IT




6ML_: (A) 5 HITL_&6IT

solution :
A+B=-
6
B+C=—
10
C+A=L
7.5

2AX+Y+Z)=c+—+—

2X+Y+Z)=2

(X+Y+Z): 1:WORK
5 DAYS

Days required = 5 days

40. Find the average (mean) of ‘n’ natural numbers from 1 to n
(A) 5

B

€)=

(D) ==

Answer: (D) nTH

1 (LG n eUEMIW 6T 0 @IEL 6T6vuIGeMN6T Fal (B FMEI
(A) 5

B

€=

(D) ==

eflemL: (D) ==
Solution :

+1
Averge mean for natural numbers = "T




41. 400 square metres have to be painted. 1 litre of paint A costs Rs. 150 and can be used to
paint 4 sg.m. 1 litre of paint B costs Rs. 200 and can paint 6 sq.m 1 litre of paint C costs Rs. 250
and can paint 8 sg.m . least cost of painting 400 sg.m. is

(A) Rs. 10,000

(B) Rs. 12,500

(C) Rs. 15,000

(D) Rs. 16,250

Answer: (B) Rs. 12,500

400 &I WBLLF ugluete] eujewid L& CeleimgueTets. A 6UmS
QuUUIGTL. AL (& 150 ehHUMLL; 1 AL L Q&menl 4 &&F LBLLI
LLF6OMD. B aUem& GUUil6TL. 60ILLF 200 ehHUML; OILL (h&6QG 6 &F&IN
BLY y&eomd. ¢ auend QUUNGTL 60ILLIJ ehUmil 250; 0L (h&@& 8
gy W LY yseombd. D& Goohsd efemeouiled 400 &g L Leny
QUTEIID L& QG (F606)

(A) €. 10,000
(B) €I 12,500
(C) €Ip. 15,000
(D) €. 16,250

elemL: (B) €. 12,500

Solution :

Paint A= % = %€ 37 5 litres

sq.m B

_ rate

Paint B= % = 33.33 litres

sq.m

. 250 t
Paint C= == =%

8 sq.m

31.25 * 400 = Rs.12500
42. What is next?

=31.25 litres

#1498, $1+ ¥, + 1S, §I42,




(A) $! 2+ *
(B) $71+ *
(C) *17+ $
(D) * 21+$

Answer: (D) * ?1+$

SIBSHG UHeUG) 6T6dT60T?
LG, $14 % * £ NG §IHx
(A) $! 2+ *

(B) $21+ *

(C)*17+ $

(D) * 21+$

aflenL: (D) * 21+$

Solution :

1. *1+7%
2. $oI+*
3. *+21$
4, $+7*
5. *?1+$

43. If the distance from A to B is 600 km and Akbar goes from A to B at a speed 40 km per hour
and returns from B to A at a speed of 60 km per hour the overall average speed is

(A) 45 km per hour

(B) 48 km per hour

(C) 50 km per hour

(D) 52 km per hour

Answer: (B) 48 km per hour

A 6T6I) QL GHHL Q(pH%H B 600 S FIIHHL 2 6Teng. SEUT A
UNeON(pH& B 6TMID QLHHMGS WeNGHG 40 HS. CeusgHeyid, B
UNeOBHE A @b QLHHADG WaNsEG 60 &  CeusgHeid
Q&6TmMeL, &gl GeusLd 6T6oT601?




(A) 45 &8/ oewn GriLD

(B) 48 &8/ o6vtN GHIFLD

(C) 50 &.LB./ estN GHIFLD

(D) &.L5./ e GriLd

elemL_: (B) 48 &.L8./ 6w GHILD

solution :

AB
A+B

same distance but varying speed = 2(

)

40%60
40+60

2(
44. Find the GCD of 15x*y°2°, 12x%y'7
(A) 170x%y'7°
(B) 3x%y*z
(C) 3xy'7°
(D) 170x%y*7?

Answer: (B) 3x%y°z°

) = 48 Km/hr

BUAL@, QU euGHH SMens: 15x'°2°, 12x%y'7
(A) 170x%y'7°

(B) 3x%y*7?

(C) 3xYy'?°

(D) 170x%y*Z2

ellenl: (B) 3x%y°Z

Solution :

15X P =5 * 3E Xk X X * X *y*Fy*Fy Kgkzr gk zx 7
1200722 = 4%3% X % Xk y* Yy kyky kg Ry x g kg

From the above hcf we get 3 x%y%7

45. (x - y) (X* + xy + y?) is equal to




(A) X+ Y’

(B) x*+y*

(C) x*-y*

(D) -y’

Answer: (D) x*- y*

(x-y) 0 + xy + y?) 6T6OTLIG 60T LOKILIL]| SHT6T01S.
(A) X*+y?

(B) x*+y?

(C) -y

(D) x>y’

ellemL_: (D) x3-y*

solution :

x3-y3=(x-y) (X + xy +y?) is an algebraic formula.
46. If 18 men can do a work in 20 days, then 24 men can do this work in
(A) 20 days

(B) 25 days

(C) 21 days

(D) 15 days

Answer: (D) 15 days

18 6NGHIG&6N 6(h GCeusmevsm 20 BITLSereL (LPlgLiL]. G
Geusmevenil 24 OGBSO (LPlg&Hs Cl&EmeUUIT6nT [HITL S6l

(A) 20 [BITL_&6IT
(B) 25 BITL_&6IT
(C) 21 BITL_&6IT
(D) 15 [BITL_&61T

elemL_: (D) 15 [BITL_&6IT




solution :

18 men = 20 days

total work = ( 18 * 20 ) =360

for 24 men = (% ) = 15 days

47. A Cone, a Hemisphere and Cylinder have equal bases. If the heights of the cone and the
cylinder are equal and equal to their common radius, then find the ratio of their respective
volumes.

(A)1:3:2

(B)3:2:1

©)1:2:3

(D)3:1:2

Answer: (C)1:2:3

@ Faldl], I AMIGCHTEND WOMID I 2 (HemeT YSHluler &Lo
S UUyuenestd  Q&meioi(herenmest. FalDLTlesT 2 WD, 2 (Hevmermuiles
2 WNHHMG &S, GLYID Geuauird Sieubblsr HISHHE
FLOWLMHLD @QBHSTL (PemMGW  EIDELPEITMIETT &6 H6NT6YBHEB S
Qe Gl 2 6mem QNKHLD WITG|?

(A)1:3:2

B)3:2:1

(C)1:2:3

(D)3:1:2

edlemL: (C)1:2:3

Solution :

1
Volume of cone = Enrzh

. 2
Volume of hemisphere = 5”3

Volume of cylinder = nr2h

Volume of cone : volume of hemisphere : volume of cylinder




1 2
gnrzh :gnr3 : mrlh

1

w =
wIN

Which gives 1:2:3

48. Find the missing term:

17,19, 23, 29, ?, 37

(A)31

(B) 33

(C) 35

(D) 36

Answer: (A) 31

N(BULL. 6160016060018 ST60015:
17,19, 23, 29, ?, 37

(A) 31

(B) 33

(C) 35

(D) 36

alemL_: (A) 31

Solution :

The difference between each number is increasing by 2 ,4 ,6, 8,10

S0 29 +8 =37

5x + 20
7x + 28

49. Simplify:

(A) =
(8)2
©):

(D)<




Answer: (B) ;

: . 5x +20
&@a’;@&)_ 7x + 28

(A) 2
(B):
OF
(D)2
aflenL: (B)2

Solution :

5x + 20
7x + 28

Putx=1

5(1) +20 _ 25

Then the equation will come as
7(1)+28 35

Which givesg

50. If f: A > B is a bijective function and if n(A) =5, then n(B) is equal to
(A) 10

(B) 4

(€5

(D) 25

Answer: (C) 5

f:A>B@@m @@UDSF &mjy WmmILD n(A) =5, n(B) =?
(A) 10

(B) 4

(C)5

(D) 25

alemL: (C)5

Solution :




F:A>B(ie)A=B

n(A)=5

so, n(B) =5

51. Slope of a atraight line parallel to “Y” axis is

(A)O

(B)1

(C) 0

(D) -1

Answer: (C) o

“V* 91§55E @eneuunmest CHISGCHMLLg60T &FMUI6?
(A)0

(B)1

(C) 0

(D) -1

adlemL_: (C)

Solution :

Slope of an line parallel to y a xis is undefined.

So it is infinity(co).

52. Find The number that must be subtracted from each term of ratio 27 : 43 to make it 7 : 15
(A) 17

(B) 20

(C) 27

(D) 13

Answer: (D) 13

27 : 43 ¢teoim ONHHHHON(HSGLD 2 MILILSENEONBHF 6THS 61660606001
SLGE 7 : 15 1THTN ANKHD HeOL SHGLD

(A) 17




(B) 20

(C) 27

(D) 13

elemL: (D) 13

Solution :

If 13 is subrtracted from 27 and 43 it will come as 14 : 30
Which can be reduced to 7 : 14

53. The Compound interest on Rs. 8,000 at 5% p.a. for 3 years is
(A) Rs. 1251

(B) Rs. 1871

(C) Rs. 1361

(D) Rs. 1261

Answer: (D) Rs. 1261

Fal (b elllg (psmmuiled em. 8,000, 3 Sewur(h&efled 5% (b el lg
el LGS UL lg UITHI?

(A) €. 1251

(B) €Ip. 1871
(C) €lb. 1361

(D) €p. 1261
edlemL_: (D) Rs. 1261
Solution :
_ R N
ClL=P(1 + 100)
_ 813
CI = 8000(1 +—)
Cl1=9261
INTEREST= (9261 — 8000 ) =Rs 1261

54. If the of function is a Singleton set, then it is




(A) A Constant Function
(B) An Identity Function
(C) A Bijective Function
(D) An One — one Function

Answer: (A) A Constant Function

@@ FmjlehT ef§FHD epHMILILIS SHEUILDTETED, UG ([
(A) LmHedF &mijL

(B) &LO6ONG &ML

(©) @®UDE &MY

(D) R6TMIGES 6REMMDITET FMLY

ellemL: (A) LMMIeNE &mijy

Solution :

If a set of function is set to be a singleton set then the set is called as constant

function.

55. A Solid having six equal square faces is called a

(A) Cube

(B) Cuboid

(C) Square

(D) Rectangle
Answer: (A) Cube

QM| FOFFHTRISGMET (LPSRIGETTHS CISHTEIL 2 (hHeULD
(A) SHESIFHILD

(B) &H6TCIF6UAISHLD

(C) &&IILD

(D) QF6UISLD




allemL: (A) HEIFHIJLD
solution :
upper face + lower face +4 side faces = 6 faces
56. Ifp, q,r,s,tarein A.P. then the value of p—4q + 6r—4s +tis
(A)1
(B) 2
(c)3
(D)0
Answer: (D) 0
P, G, 1, S, t eraiiey ol B3 Qsri cuflensuied @ pLitdesp —4q + 6r — 4s + t = 6T60TLIG 60T
LO&ILIL
(A)1
(B)2
(c)3
(D)0
edlemL_: (D)0
Solution :
In arithmetic progeression the difference between each number will be same.
Letustakep,q,r,s,t=2
2 — 4(2)+ 6(2)- 4(2) +2 =0
57. In how many years will a sum of money doubles itself at 8% Sl per annum?
(A) 12 % years
(B) 13 % years
(C) 14 years
(D) 15 years

Answer: (A) 12 % years




@@ QaTms 8% ey Helalllg (Pemmuiled @Il iqlILmg LOMTm
615 & 6m60T 4, 600T(H&H6NT Y, (&LD?

(A) 12 - QTR 6T

(B) 13 - 46301 &eiT

(C) 14 o), 6001(HS6IT

(D) 15 &y, 6v01(h &6

aflenL: (A) 12~ S60T(H&6T

solution :

Let us take p =100

So interest should also be 100.so tht interest and principal together we get 200

which is doubled.

R=8%

100 =

_100

n = 12.5 years

58. A book contains 120 pages. Each page has 30 lines. How many pages will the same matter
of the book contain if every pages has 25 lines?

(A) 175
(B) 150
(C) 164
(D) 144
Answer: (D) 144




@6UC6UM(E USSSHHVID 30 eUFlGH6T Q&M 6(h LSHHHHH6 QLTSS
LUSSMIGET 120. SIGCH Q&S 6UC6UT([H USSSHHNID 25 6UF ST
A®HSMTL LSHHEHH5H6T QOMTHS LISHMISAT6 6T6360uT5Hme WITS]|?

(A) 175

(B) 150

(C) 164

(D) 144

alemL_: (D) 144

Solution :

Total line in book = (lines per page * total pages ) = (30 * 120 ) =3600lines

If lines is reduced from 30 to 25, then % =144 pages

59. A man white washes 96 sq.m of a compound wall in 8 days. How many sq.m will be white
washed in 18 days?

(A) 216 sq.m

(B) 218 sgq.m

(C) 198 sg.m

(D) 220 sq.m

Answer: (A) 216 sg.m

€@, BUF 96 &8 ugluensney 8 HTLS6afled GledeTenen Sllg&GM 6T6vileL
18 BIL&6M6L eTeuaU6TEY LFLILIOTENEU GleU6TeneT Silq&Hs (LPlgU|LD?
(A) 216 &.18

(B) 218 &.L8

(C) 198 &.L8

(D) 220 &.18

ellenL: (A) 216 &.18

solution :




for 96 sq. m =8 days
for 1 day= 12 sq.m
then 18 days= 18 * 12 =216 sq.m

60. The mean of the 5 numbers is 32. If one of the numbers is excluded, then the mean is
reduced by 4. Find the excluded number

(A) 40
(B) 44
(C) 52
(D) 48
Answer: (D) 48
5 eTeuuIgheest FOMEF 32. eUCleUGTIISHETEL Q\(BHE 6260T6MM
B&GLCUTEI, FITEFHUND 4 GODHSHTEL BHSLILILL. 6T6H0T60 60015
SIT60015?
(A) 40
(B) 44
(C)52
(D) 48
adlemL_: (D) 48
Solution :
For 5 numbers mean =32
6* 32 =160

If 1 number is reduced it reduces the mean by 4 =28 * 4 =112
(160-112) =48

61. The Value of (i)'2 -3x8Px4°+ (%)'1’2 is
1

()51
1

(B)51

(C) 6=




1
(D) 73
Answer: (A) 5§

(A) 55
(B)5-
(C) 6

(D)7
afleml: (A)5+
Solution :

() -3x(2H*° x4+ ()

_ 16
3

=5

W=

62. A Sector containing an angle of 180°is cut off from a circle of radius 7 cm and folded into a
cone. Find the curved surface area of the cone (Take n = 22/7)

(A) 77

(B) 22

(C) 88

(D) 66

Answer: (A) 77

7 Q&8 peten @b UL L G&l6tT 180° enlowl GHMEHILD CQST6ITL 62(1h
QALLS Goemamiugsmnw  QeullgQBhsHSl, ST Y THISEM6N
6TMIMETSHGH 6(H FalDLSSETE, HeML GG FalDL6T eUemeTLIFLIEnL
SIT6U0TISH (m = 22/7)

(A) 77

(B) 22




(C) 88

(D) 66

alemL_: (A) 77
Solution :

R =7 cm = 180° is cut off

Length of curved arc part = 2R ( %)

R = % *7 =22 cm
2 TR =22
R=3.5cm

Slanting height of cone s=7 cm
C.S.A OF CONE = rrsr = ? *7%35

C.S.A OF CONE = 77 cm?

63. The Sum of three numbers is 38. If the ratio of the first to the second is 1:2 and that of the
second to the third is 3:5 then the second number is

(A) 6
(B) 12

(C) 18

(D) 24

Answer: (B) 12

CLEOTM) 6TEEIT&H 66T Fa(BHEL 38. (PGH6EL LOMMILD @ETUILITLD 6TEHU&HET 1:2
61601 QHHHHEID 2 OMMID 3 6UF 6TEOUHET 3:5 61601 NFIHHHeVILD
ABHSTEL GJETIILMEUG) 616601 WITE|?

(A) 6

(B) 12

(C) 18

(D) 24

adlemL_: (B) 12




Solution :

A:B 1:2
B:C 3:5
A:B:C=38
6:12:20=38

64. How many terms of arithmetic series 6 + 13 +20 + 27 + ...... , be taken continuously so that
their sum is 375

(A)8

(B) 12

(C) 10

(D) 13

Answer: (C) 10

6+13+20+27+ ... 6T60TMN Fal (hG QFHTLIJl6L QFHTLJFHUITS 61560601
2_MILLSENET Fal lq60TTeL Fa(FFH6L 375 HlMLSH@GLD.
(A)8

(B) 12

(C) 10

(D) 13

adlemL_: (C) 10

Solution :

a = first number = 6

d =difference between each number =7

total sum =375

%[Za +(n-1)d] =sum

~[2(6) + (n-1)7] =375

“[12+7n-7]=375

§[5+ 7n] =375




5n+ 7n? =750

m? +5n-750=0
(7x=70) (7x+75)=0
(x—10) (7x+75)=0

X=10,2
7

X cannot be negative.so

X=10

65. The sum of n terms of the series 8 + 88 + 888 + .... is

80
64

80
81

60
64

70
81

Answer: (B)

~[10" -
=[10" -
~[10" -

210" -

1]

1]

1]

1]

8n
64

80100 - 1] - &
81[10 1] 9

8 + 88 + 888 + ..

6T60T60T?
80, n
(A) 110" -

80
210" -
81
60
64

70

n
81[10 -

[10" -

1]

1]

1]

1]

6TEMID QSHTLIfl6L (&L ‘n

efenL: (B) =[10" - 1] - =

Solution :

Sum=( 8+ 88 + 888 +

...... +n terms)

Sum= (8 (1)+ 8 (11)+8 (111) +......

= the above eqn by 9

2_MILL&eN6 Fa(h&H6L




2L9 (1+11+111+....)]
S[(9+99+999+.....)]

20 (10-1) +(10% — 1) + (103 —1) +......)]
[ (10+102 + 103 1) - (1+11+ 111......)]
n]

8o n_1y.8
81(10 1) L

8 [ 10 (10™-1)
9 10-1

66. The difference between the compound interest and simple interest on Rs. 4,000 at 5% per
annum for 2 years is

(A) Rs. 10

(B)Rs. 11

(C) Rs. 20

(D) Rs. 100

Answer: (A) Rs. 10

. 4000 - @G meior(H&H6efled 5% eu(hL 6UL g6 (Wemmulled
H6oN6UL 19 HGLW, Fal (B ULIgHGWL QenL Gl 2 6em §WITFLD
(A) Rs. 10

(B) Rs. 11

(C)Rs. 20

(D) Rs. 100

edlemL_: (A) Rs. 10

Solution :

g| = PNR _ 2000+2+5 _ oc 400
100 100

CL=P(1 + =)V

100

CI = 4000(1 + )2 = 4000 (= )% = 4000 * 1.1025 = Rs.410

0

Cl-SI =410-400 =Rs. 10




67. If Ramya needs Rs. 9,00,000 after ten years, how much should she invest in a bank pays
20% simple interest

(A) Rs. 2,00,000

(B) Rs. 3,00,000

(C) Rs. 4,00,000

(D) Rs. 5,00,000

Answer: (B) Rs. 3,00,000

UG Segm@Gl NG Juwumeln@ eb. 900,000 GCHmeulLGEME
61601160 QLEUUTIGME& 20% H6vll Ul lg SaNHGGLD URIEIUTICL, 6TeUEU6NTE)
3IFUNS CF§HFH Ceuetur(Hd 2

(A) €I 2,00,000
(B) €1p. 3,00,000
(C) €1B. 4,00,000
(D) €I 5,00,000

ellemL_: (B) €lp. 3,00,000

Solution :
Amount = 900000
N= 10 years

R= 20% = 22 = 0.20

100
P=?
Si=?
Interest =p *r * t
Interest =p * 0.2 *10
Interest =2p
Amount =p + |
900000 = p + 2p
900000 = 3p




P = 300000
Alternate method :
Interest =p *r * t
Interest =p * 0.2 *10
Interest =2p

From option we can select 300000 because interest is 2 times of p. so 300000(p) + 600000
(i)=900000.

68. Two boys can finish a work in 10 days when they work together. The first can do it alone in
15 days. Find in how many days will the second boy do it all by himself?

(A) 24 days

(B) 30 days

(C) 32 days

(D) 40 days

Answer: (B) 30 days

@neo(h Hmieugser Geghg CQFLUD CuTE @b Gealemevsnul 10
BTL&efeL (pgLuf. (pHL Smialer SleuGalemevenlsd HeollGul 15
BTL&eMeL  (P1HdHTeL, Qe mbd &Smieuenm HellGl euGaleuemiL
615 H6m60T HITL&GelleL CFUIF (LI LILIT?

(A) 24 BITL_&6IT

(B) 30 [BITL_&6IT

(C) 32 BITL_&6IT

(D) 40 [BITL_&61T

elemL_: (B) 30 [HITL_G6IT

solution :

2 boys = 10 days

total work = (2 * 10 ) = 20works

Ist boy takes 15 days to complete the work.




for 1 day 1st boy complete (20+ 15) = 1.34work/day.

for 10 days 1st bo complete 13.4 work in 20 works.

2" boy work 10 days and complete (20 — 13.4 ) = 6.6 works.
For 1 day 2™ boy will finish (6.6 = 10) = 0.66work / day.

And 2" boy takes ( 0.66 * 20 ) = 30 days to complete 20 works.
69. If2x +3y =13 andy = 2 then the value of 8x° + 27y’ is
(A) 693

(B) 793

(C) 893

(D)0

Answer: (B) 793

2x + 3y =13 1DMMID y = 2 67631160 8x° + 27y°— 63T LO&ILIL]
(A) 693

(B) 793

(C) 893

(D)o

edlemL_: (B) 793

Solution :

8x% + 27y?

(2x)® + (3y)® which is in the form of a° + b®

Using (a+b)*=a®+b® +3ab(a+bh)

(2x +3y)3-3*2x* 3y (2x + 3y)

Substitute 2x + 3y = 13 and Xy = 6 in above equation
=(13)%-18*6*13

= 2197 - 1404




=793

70. The difference of the squares of two positive numbers is 84. The square of the highest
number is 25 times the smaller number. Find the numbers.

(A) 15, 12

(B) 4, 10

(C) 11,8

(D) 16, 4

Answer: (B) 4, 10

@Qreu(® Wem& eTausefledT euUTESMISaTeT NGWITFD 84, QUi
TN SHeMl6tT  UTSHHLOMeS SOOI  6T600ISH6M6T 25 DL MRIE &FLOD  6T60T16L
ShG ETEUIHEN6E SIT6T0IS.

(A) 15, 12

(B) 4, 10

(C) 11,8

(D) 16, 4

alemL_: (B) 4, 10

Solution :

Difference = 84

Square = 25 times

10% - 4°= 100 -16 =84

100 is 25 times greater than 4.
71. The G.C.Dofxandy is z

A7

(B
©) >
(D)5*

Answer: (A) %




x MHMILD y @6t BLCLWE QUTE UGS z 6T6viled Seummisit LIFHM)
QU L MIG

A7
(B)5
©F

(D) =2

Z
enemL: (A) =~
Solution :

TheG.C.Dofxandyisz==

z

72. Ina class of 45 students, 9 students were absent on a particular day. What percentage of the
students were present?

(A) 5%

(B) 20%

(C) 80%

(D) 10%

Answer: (C) 80%

Q@M GMUILL Breafled, 45 LOMEUUIEUTSHET 2 6o (h 6UGLULIIeL 9
LOIT600T6L] & 61T 6U(H60 S &yeeLemev 6T60TI6L, UBHMS  HHS
LOM6s0T6U &6 F5H05H5HMG &HT6H015?

(A) 5%

(B) 20%

(C) 80%

(D) 10%

adlemL_: (C) 80%

Solution :

In 45 students 9 students were absent.




45 students = 100%
10% = 4.5 students
20% = 9 students.

73. If the product of two number is 800 and their LCM is 200, then the HCF is

(A) 100

(D) 600
Answer: (B) 4

A WDms candseafer CQUBSG CHTME 800 LOMMID UMM LCM
200 6T6uTl6L HCF-60T LDILIL| UITG)?

(A) 100

(D) 600

allevL: (B) 4

Solution :

a*b=c*d

PRODUCT =H.C.F*L.C.M
800 = H.C.F * 200

H.C.F=4
74.  Simplify: V48 - 3v72 — /27 + 518
(A) V2 + /3

(B) V2 - v3




(C) V2 + V3

(D) None of these

Answer:
1. &(H&GS: VA8 - 372 — V27 +5V18
(A) V2 + V3
(B) V2 - V3
(C) V2 + V3

(D) @eummien ep6aTMILOICLEMEL
allemL: (D) QeummI6T ¢6TMILHICLEMED
SOLUTION :

V48 - 3V72— V27 +5V18

=16 *3 - 3V36*2— V93 +5V9* 2

43 - 18v2 — 3v3+15V3

=V3 - 3v2

So none of these.

75. Which of the following is not the area of triangle ABC?

Z
|

1 .
. ab sin c

(B) % bh

(C) \/s(s —a)(s—b)(s—c¢)
(D) 2d (h + hy)

Answer: (D) %d (h1 + hy)




NeoTeubeussTeUMMIeT 618 ABC (WP&ECHTauGHletT LJLILSSTET  F&SLD
316L6V?

Z
|

L ab sin ¢
2

% bh

2

(C) Js(s—a)(s—b)(s—c¢)

(D) 5d (hi + h)

eflenL: (D) 2d (h + hy)

Solution :

The triangle will not have diameter and 2 heights.

76. If A can do a work in 60 days and B in 20 days. If they work together they

complete the work in
(A) 10 days
(B) 15 days
(C) 20 days
(D) 17 days
Answer: (B) 15 days

@@ Geusmevemil A eTeoTLed] LGB 60 BHILSaTEYID, B 6T6TLIOI]T
LLGWD 20 BILSeMgd Q&FWIW  (WDlgujomermed  @@heu@md CFIbHg)
316UGaUMELENILI CIFUILL 6T6UEU6NTEY [HTL &6 Y, &LD?

(A) 10 BITL_G6IT
(B) 15 [BHITL_G6IT
(C) 20 MBITL_&6IT

(D) 17 IHITL_&6I




elemL_: (B) 15 [HITL&6I

solution :

1 1 work
+ ==

60 20 days

143 _ work
60 days

4  work
60 days
1 work
15~ days

15 days required.

77. A Fruit seller bought 10 boxes of grapes at Rs. 210 each. One box was
damaged. He sold the remaining boxes ar Rs. 250 each. Find the profit / loss

percentage

(A) 7.14% Loss

(B) 10.14% Loss

(C) 7.14% Profit

(D) 10.14% Profit
Answer: (C) 7.14% Profit

@@® up elwmumfl 10 QuLly HFTLengsemen e(h GULIG €H. 210
B eUTRIGET]. L @ CuLly HITLms i(WPdH alGEHDG!.
B emen  QULIg&enem 6@ QUL €. 250 6T60IM  eNeM6LEHES
QNMEMI 6Teafled @evmu / UL FHIGHLD 616016017

(A) 7.14% [HL_L LD
(B) 10.14% [HL_L_LD
(C) 7.14% @e0muLDd

(D) 10.14% @6vmuLD




lenL: (C) 7.14% @6VITLILD

solution :

1 boxes =210

10 boxes =2100

after 1 box gets damaged 1 box is sold for 250 rs.
9 * 250 =2250

150 rs profit.

which is 7.14 % profit.

78. The diference between compound interest and simple interest of Principal P, at

(% interest for 2 years is
Q P(%.o)z
) P(1+5)
) P(1-5%)
@) P+ ()
Answer: (A) P ()’

100

ST P &G % elllg FLD 616a1mmeL, Qren(h o anESEHSS Fal B
QL IgHGD 6ol UL IgSHGLD 2 66T GWITFLD

W P ()

(B) P (1 + ﬁ)z
(C) P (1 o 120)2
D) P + (ﬁy

Solution :




Cl-SI :P(L)“

100

FOR n = 2 years

Cl-SI :P(L)2

100

79. LCM of two numbers is 150 and their HCF is 4. If one number is 50, then the

other number

Answer: (D) 12

@@ etaudHafesr LCM 150 LOMMID HCF 4 hGLD. SH6L (b 616501 50
61601160 LOMGIMIT(R 6T690T

ellemL: (D) 12

Solution :

a*b=c*d

PRODUCT OF TWO NUMBERS = H.C.F * L.C.M
50*b =4*150

b=12.




80. A Man wants to stitch a cover for a c.p.u whose length, breadth and height are
25 cm, 40 cm, 45 cm, respectively. Find the amount he has to pay if it costs Rs. 40

per sq.m
(A) Rs. 27.40

(B) Rs. 26.70

(C) Rs. 22.60

(D) Rs. 25.30

Answer: (A) Rs. 27.40

(b6l Hembd, Siseud LHMID 2 wpd (WemmGWi2s Q& .5 sieTelemnLul
@@ cpu QMG 2.6mM MEHS N@HLUSMMT. 2 6mmuiled elenev 1
g0 L (56@ Ch. 40 61601160 U(HSHG 6T6U6UTEY QFEVEUMGLD?

(A) €. 27.40

(B) €h. 26.70

(C) €Mh. 22.60

(D) €. 25.30

elemL: (A) €. 27.40

Solution :

L=0.45m

B =0.40m

H=0.45m

1m= 40rs

Area = 2lb + 2bh + 2hl

But cpu will not have bottom stitch so Area = Ib + 2bh + 2hl
Area =(0.25 * 40) + 2( 0.40 * 0.45 ) + 2 (0.45 * 0.25)
0.685m =0.685 * 40 = 27.40 Rs




81. An article is marked 50% above the cost price upon the production price and a

discount of 40% is allowed. Then the gain or loss Percentage is

(A) 10% loss

(B) 12% loss

(C) 9% loss

(D) 8% gain

Answer: (A) 10% loss

@0 CUTGBET SUHET 2 MHUsHS elemeouNedl(BhHE 50% AHHSLOMS

almusnest  @SMSSLUUGEDG. CLID  HL  40% 6Ll
SINNGHTEL SiU(HEG 60U / UL FHIHLD

(A) 10% [BHLLLD

(B) 12% [BHLLLD

(C) 9% BLLLD

(D) 8% 6VLITLILD

lenl: (A) 10% [HLL LD
solution :

cost price =100%

selling price =150%

discount = 40%

let us take cost price = Rs. 100
then selling price = Rs. 150
40% discount from selling price = Rs. 60

(150 — 60) = Rs. 90

so 10% loss




82. A Man cycles at the rate of 15.6 kmph. How many metres does he cover in 2

minutes?

(A) 31.2 m

(B) 260 m

(C) 520 m

(D) 5200 m
Answer: (C) 520 m

@meuy 156 &S / aENEG CoussHHev OFeustumquiled LIWIETNSESMTI.
sleu] @ueoi(y HILOIL Rsafled eTeleleney ST &L B (HLILM]?

(A) 31.2 LS
(B) 260 LO
(C) 520 LB
(D) 5200 LS

Answer: (C) 520 LB

solution :

lhr = 15.6 km = 15600 m

for 2mins =22 * 2 =520 m

83. The number of proper subsets of the set A = {a, e, i, o, u} are

Answer: (B) 31




A = {a e i, o, u} 6T60NI6L &H©& 2L SH6UIIRIGETIEI 6TEUUT6U0T&H6M5

eléml_: (B) 31
Solution :

A=(2"-1)
A=(2°-1)=32-1=31

84. LCM of 2/5, 3/5 and 7 is

Answer: (C) 6

2/5, 3/5 LDMMILD % eTeoTLIOUMMI60T LCM

al6mL_: (C) 6

Solution :

L.C.M OF FRACTIONS _ NUMERATOR
H.C.F OF FRACTIONS DENOMINATOR




SOLCM =2*3*1=6

85. | am a three digit number. Moreover | am a multiple of 10. When | am divided
by 6, | leave no remainder and if 4 is added to the quotient, 114 is obtained. What

is my Value?
(A) 220

(B) 440

(C) 550

(D) 660
Answer: (D) 660

BITedT €l CLPETMIEV&ES 6T6tur. GLOGVID 10 @\60T LOLMRIEG o4, Ged6oT. 6T60T60)60T
6 960 QUGHEF, BHUNGIMNE HMLSGLD Fe L6l 4 M&EF CEFIHHTEL,
114 HleMLSGLD, 6T6ufleL 6T60T&H| LOSHILICILIGHT6OT?

(A) 220
(B) 440
(C) 550
(D) 660

l6mL_: (D) 660

Solution :
When 4 is added =110+ 4 =114
When divided by 6 no remainder = 6 * 110 = 660

When 660 is divided by 6 it leaves no remainder and it is multiple of 10.

86. The length of the arc of a sector having central angle 90° and radius 7 cm is
(A) 22 cm

(B) 44 cm




(C) 11 cm

(D) 33 cm

Answer: (C) 11 cm

QILL WSS FHTRIGLD CHMEID 90° G YU 7 QF.L eTeflev,
UL eNeLedstT HerLd

A) 22 Q&.L8

(B) 44 Q&.L8

€) 11 Q&..8

D) 33 Q&..0

ellenL: (C) 11 Q&.L0

solution :

arc length = 2mr (% )

arc length = 2*— * 7 (%)

arc length = 44 *i

arc length =11

[xz 1] [Zx 3 3 4

3 7], then values of x are

Answer: (D) -3, 1

[x; ;] . Zx 3] [g ‘7}] 616360 x 607 LDEILGET ST6HTE




(D) -3, 1
alémL_: (D) -3, 1

Solution :

PR A R

x?+2x=3

x2+2x—-3=0

X=(3,1)

88. A man buys 3 tables and 12 chairs for Rs. 2,400. He sells the tables at a

profit 20% and chairs at a profit of 10% and makes a total profit of Rs. 300. At what

price did he buy one table?
(A) Rs. 100

(B) Rs. 200

(C) Rs. 300

(D) Rs. 250

Answer: (B) Rs. 200

@HeU] 3 CmPEHET WOHMID 12 BTMHSTE0 Q[HSMEBHET Y &HlUiImenm
¢h. 2,400 &@ 6UTRIGHMTE. CLENYSHEMET 20% VMUGH MG BHTMHETEO
AmSm&EHemET 10% QeoMUGHADOGWL MG CGUTH €hH. 300 EVMLILDTS
QuUMISMTesT 61601160 (I G R emUl 6TH % a6m6L &G
GUMRIGILI (15 LILIT60T?

(A) €. 100




(B) €Ih. 200

(C) €. 300

(D) €. 250
el6mL_: (B) €h. 200
Solution :

3x + 12y = 2400 .. eqgn 1

Profit from table =20% = % * gy = 18
Profit from chair =10% = — * 12y = ¥
100 5

Profit = selling price - cost price

300 = X+ = —3x—12

18x + 66 - 15x - 60 =1500

3x + 6 =1500 ... eqn 2

When we solve egn 1 and egn 2, we get

Y= 150 and x= 200

89. The difference between the C.I and S.I for a sum for two years at 8% rate of

interest p.a. is Rs.40. What is the sum?
(A) Rs. 2,000
(B) Rs. 4,000
(C) Rs. 5,500
(D) Rs. 6,250

Answer: (D) Rs. 6,250




@R0M QFTm&EEEG Qranlh YETGEHEHS 8% Il oI55S Fal (B
QLIRSS H6oll ULIGHEGD 2 616 QNGUWITFD €. 40 6163760, SHS
QBTeMS WITG|?

(A) €Mh. 2,000

(B) €Ib. 4,000

(C) €. 5,500

(D) €Mh. 6,250

el6émL_: (D) €. 6,250

Solution :
D =140
R =8%

1002

P=D*=2

FOR 2 YEARS

1002
82

P = Rs. 6250

P=40*

90. The marked price of an article is 20% more than its cost price. A discount of 10%is given.
After discount the price is Rs. 518.40 What is the cost price?

(A) 480

(B) 576

(C) 596

(D) 598

Answer: (A) 480

@@ Cum@pmener QL& alemevenl el GMNEHFH QIeneVIITETEH 20%
SIGGID. 10% GenEpLly SIUUGSHME. HeT@pLIasH@G LeoT  GlLm(merflesr
M6V €I5.518.40, 6T60TI6L HLIGLIMT(HET6IT L 5& 6T61I6V 6T63T60T?

(A) 480

(B) 576




(C) 596

(D) 598

al6mL_: (A) 480

Solution :

Cost price = 20% more than marked price
Discount = 10%

after discount =518.40

marked price =120%

cost price =480

91. Ifacar travels at 60 km per hours for 2 hours and then at the speed of 80 km per hour for 4
hours. What is the average speed?

(A) 68 kmph

(B) 70 kmph

(C) 72.1 kmph

(D) 73.3 kmph

Answer: (D) 73.3 kmph

@@ &M WaM&EG 60 & Coussidled 2 e CHIWL LWLIGNEEMDE.
MNeoT 4 wewN CHISHDOG 80 &S CoussHidHled QFLEHME 6TeNleL SihHG
&milett &om&fl GeusLd 6T6oT60T?

(A) 68 &.LO

(8) 70 &.LO

€) 721 &.8

(D) 73.3 &.L5

elenL: (D) 73.3 &0

solution :

total kilometres

- =average speed
total time taken




‘%0 = 73.3 km/hr

92. Find the least number exactly divisible by 12, 15, 20 and 27.

(A) 504

(B) 270

(C) 108

(D) 540

Answer: (D) 540

12, 15, 20 WOMID 27 HPEHW ¢TEuKHaTeL UGUBL I&F Ml
6T600T6DI600TS  SIT6V015?

(A) 504
(B) 270
(C) 108
(D) 540
6l60L_: (D) 540

Solution :
There is a number which ends with 0.

So choose the numbers which ends with 0 from the options.540 will be divisible by all the
numbers.

93. The area of a circular field is 138600 m?. Find the cost of fencing it at the rate of Rs. 4.40
per per metre.

(A) Rs. 5800
(B) Rs. 5808
(C) Rs. 4808
(D) Rs. 6808
Answer: (B) Rs. 5808




@(H UL L LDmesr euuledlstT UFLiLene 138600 &.8. &&If WL (55 €.
440 e@Id fHHHL, mE G GCouedl SMLLULGMSTET  C&FeveNen6st
&60015 5 (h &7

(A) €. 5800
(B) €IF. 5808
(C) €. 4808
(D) €Mh. 6808

el6mL_: (B) €. 5808

Solution :

Area = 138600 sg.m
A = R?

138600 *= = R?

R =210m

Circumference =2 mR? = 2 * % * 210 =1320m

Cost of fencing = (1320 * 440)
=Rs 5808.

94. Gold is 19 times as heavy as water and copper is 9 times as heavy as water. In what ratio
should these mixed to get an alloy of 15 times as heavy as water?

A)1:1

(B)2:3

(©1:2

(D)3:2

Answer: (D) 3: 2

SRS  Hewewienrl GCume 19 WLRKIEG SOIDOMSeD, SHTLOIJLD
GevuieuvienrLl GLIT6L 9 LOLMRIE SHESIDMEHED 2 6Terng). SevuenienrL GUiTev




15 OLMIEG &Seromel 2 Geomsd  Sevemeueml GuUm,  @emeusen
6T6UNHHHL HeV&HSL L. Geuetor(hLd?

(A) 1 : 1
B) 2 : 3
C) 1:2
D) 3 : 2

elémL_: (D) 3 : 2
Solution :

A(G) +B(C)=15W (A +B)
19A+9B=15(A+B)

19A + 9B = 15A + 15B

4A =6B

4_3
B 2
=3:2

95. A bird flies 200 metres west and then turns right and flies 100 meters. Next it turns east

and flies 300 meters. Again it turns and flies south for 100 meters. How far is the bird from
starting point?

(A) 100 m

(B) 150 m

(C)124m

(D) 116 m

Answer: (A) 100 m

@@ umeney CMHE SHeanguled 200 WBLLT  UDHE 6U6LG LMLD
S Goed 100 WLLY umsEHMG. 66 H&HES Semguied
S 300 B umhg Neor H@GBLA QHHG Heoguiled 100 WBLLI}
UDSSMG. Spowu  UenafluNedl(pha ULMeneu  sTedeueTe]  GTHSI6L
2 66N G)?




(A) 100 LS
(B) 150 LS
(C) 124 LS
(D) 116 LB

ellemL: (A) 100 LS

SOLUTION :

| b A

The bird is 100m far from its starting point.

96. The Ratio of Circumference to the diameter of a circles is approximately

(A) 811

(B)11:8

(C)7:22

(D)22:7

Answer: (D) 22 :7

@5 ULL GH60T &KHmetaliM@GL i&H60T L HHMGLD 2 6o eN&HGLD
(CHMIMUILDTS)

(A) 8 : 11

(B) 11 : 8




el60L_: (D) 22 : 7

Solution :

22

Circumference = = = 22 : 7

97. Ifa:b=2:3,b:c=5:7andcis42whatisa="
(A) 12

(B) 20

(C)21

(D) 22

Answer: (B) 20

a:b=2:3b:c=5:7OMI c ullerm LI 42 6T6v1l6L a = ?

Ql6mL_: (B) 20

Solution :
a:b 2:3
b:c 5:7

a:b:c=10:15:21
but ¢ is 42 so multiply by 2
20:30:42

A=20




98. What is next?

2@ @'+ 2@, ...
A?2@!'+

(B)+?! @

Oo+?7@!

DO)+@+!

Answer: (C)+?@!

IESHG QUH6EUG 6T6dT60T?
T@! @'+ 2@ .
A)? @ ! +

B) +?! @

C)+? @

D) + @ + !

allénL: (C) + ? @ !
Solution :

1. 2@+

2. @+7?

3. 1+7@

4. +7@!

99. If ANGLE is written as CPING then PLANE must be written as

(A) RNCGP
(B) RNCPG
(C) RNCQG
(D) RCNPG




Answer: (B) RNCPG

ANGLE 6T60TLIg)| CPING 6T60T 6T(LPGLILILL ML PLANE 6T60TLIENSG 6T6UEUTM)
61(pg Geustor(HLd

(A) RNCGP

(B) RNCPG

(C) RNCQG

(D) RCNPG

edlémL_: (B) RNCPG

Solution :
ANGLE
CPING

THE DIFFERENCE BETWEEN A AND C,NANDP,GANDI,LANDN,EANDGIS1
LETTER.

SAME 1 LETTER DIFFERENCE IS FOLLOWED IN PLANE . SO ANSWER IS RNCPG

100. The Volume of a Hollow cylinder of length h, inner radius r and outer radius R is equal to
(A)mh (R-r)

(B) th (R* - r?)

(C) nh (R® -’

(D) Zmh (R - 1)

Answer: (B) nh (R* - r?)

@@ 266iLmm 2 [henemuller Herd h, Ceuell WOMID 2 6TeUL L MHIG6TT
R DOMID r 6T6IMITEL 2 (heMATUNETT &H6UT {66 6T60T60T?

(A) mth R - 1)

(B) mh (R? - A

(C) mh R® - 1)




(D) nth (R* - 1)
elemL: (B) mth (R? - )
Solution :

Volume of hollow cylinder = mh (R? - %)

101.  Two persons A and B are engaged in a work. A can do a piece of work in 12 days and B

can do the same work in 20 days. They work together for 3 days and then A goes away. In how
many days will B finish the work?

(A)9

(B) 10

(C) 12

(D) 17

Answer: (C) 12

A LOMID B AW Qe @ Gousmevenil CFWIS6Tme]. A, 12
BTL&efeL  SeuGalmevemnit (PIgsHs  (Plgujld. B  gemed] CH
Geuemevsmil 20 BML&aT6L (Plg&HS (PlgUD. A, B Q@eupld CaJhe 3
BTL&6T Geuemev GFIIE N6tT A Sleuen] el (b CFeTmIalll L] 6Tesfled
L8 (perTen GeuemevsmUl B 616H&60)60T HITL&erMl6L (LPlgLILITIy?

Ql6vL: (C) 12

solution :
1

1.1
12 20
5+3

60




8

60
115 work finished by A
2_3 ..
1-; = ( remaining work )
For completing remaining work = S * 20 =12 days

102.  Find the missing alphabets in the given series:

13ca, 216fab, 25eb, 237, 461d, ....
(A) gee

(B) gcb

(C) gdb

(D) fcb

Answer: (B) gcb

QerESsLIUL(Reten QG MLfled CamgL L QL 5560 QH&ES Gevevorig
6T(LDSSHISSH6N WITem6?

13ca, 216fab, 25eb, 237___, 46fd, ...

(A) gce

(B) gcb

(C) gdb

(D) fcb

l60L_: (B) gcb

Solution :”

For f next letter is g

For b next letter is ¢

For a next letter is b




Answer : gcb

103.  The numbers are in the ratio 15 : 11. Their HCF is 13, which of the following pairs can
they be?

(A) 194, 143

(B) 195, 142

(C) 195, 143

(D) 196, 144

Answer: (C) 195, 143

@eior(y 6T6TI&HET 15:11 616N NHGHHHEL 2 eiterner. Seummlett LE.CLM.6u
13 ¢16afleL G QBTHSHULL (B6TemeneusHeafled Siemed 6THIITE @\(h&5E
Go.(hLD?

(A) 194, 143
(B) 195, 142

(C) 195, 143

(D) 196, 144
al6tL: (C) 195, 143
Solution :

H.C.F = 13

15 : 11 MULTIPLY 13 WITH IT

195, 143

104. Simp“fyxzz—3x—1oxx2—32x+4
x2-x-20 x3+8

(A)x+4

®)

© 7,

X+ 2




(D)x+2

1
Answer: (B)
X+ 4
x%-3x-10 x%2-2x+4

FBHOHGS: x?%-x-20 X x3+8

(A) x + 4

X+ 2
(D) x + 2

1
X+ 4

al6vL: (B)

Solution :

x%-3x-10 X x2-2x+4
x2-x-20 x3+8

(x =5)(x+2) X x%2-2x+4
(x-5)(x+4) x3+4 23

x3+ 23 isinthe formofa®+ b3

(x =5)(x+2) X X% -2x+4
(x-5)(x+4) (x+2)(x%2-2x+4)

1

_x+4

105. The monthly income of a person is Rs. 5,000. If his income is increased by 30% then
what is his monthly income?

(A) Rs. 7,000

(B) Rs. 5,500

(C) Rs. 3,500

(D) Rs. 6,500

Answer: (D) Rs. 6,500

€(HOU(HEMLUI LDITH 6U(HLOMEILD €Mh. 5,000 HEUHEML UL DTG 6U(HLOM6UTLD
30% 2 WD GUTE LDMEH EUHLOITEIILD 6T6oT6uT6UTE @(Ih&HELD?




(A) €H. 7,000

(B) €H. 5,500

(C) ¢/. 3,500

(D) €. 6,500

el6émL_: (D) €. 6,500
SOLUTION :

Monthly income =5000
Increased = 30% =1500
5000 + 1500 = Rs. 6500

106.  The value of (-5) (4) (2) () ©)

(A) 10

(B) 15

(C) 12

(D)0

Answer: (B) 15

(5) 4) @ ) O &1 WA Wg?

aenL_: (B) 15
Solution :

5 *47*27*05* 075 =15




107. If4x+5y:83and3—x:§then y—x=7?
2y 22

(A) 4
(B)3
(€6
(D) 2
Answer: (A) 4

4x + By = 83 LOOID > = = eTetfled y - x = 2

QIl6vL: (A) 4

solution :

21x2 7

x
y 22%3 11

7
X = 1g Y €N 1
4x + b5y = 83 .vvee€Qq 2

Sub egn 1 in egn 2

7
4 (Zy)+5y=8

28 y + 55 y = 913

Yy =22 =14
83

Y = 11
Sub y=11 in egn 1
X =Zx11

11




Theny -x=?
11-7=4

108. If the length of a rectangle is doubled and the breadth is tripled then which of the following
is true?

(A) Perimeter is multiplied by 5

(B) Perimeter is multiplied byg

(C) Area is multiplied by =

(D) Area is multiplied by 6
Answer: (D) Area is multiplied by 6

@@ CFcucussHle HeasHms Q@ WLLRSTHED HLHME CLPETM)
DL RISTHELD Y, &HH6UTT6D, SLDSHEHUILeUMMIET 618 &ijl?

(A) &MMENeY 5 L MISTGLD

() &MHMETEY 2 LOL MISTGLD

(C) UpLILIeNe) gwl_mn@m

(D) UFULeTe) 6 LOLRISTGLD
elemL_: (D) UFLILeT6] 6 LOL RISTGLD
solution :

doubled and tripled = 2 * 3 = 6

Area is multiplied by 6

109. If a right circular cylinder cone have the same radius and same height then the ratio of
volume of cylinder to volume of cone is

(A)3:1
(B)1:3
C)z:2
D) 1:x
Answer: (A)3:1




@@ CpjalL GCasmasHmGw, @ GChIaulL FabllnEGL Cr
U, @Gy 2wy 66armmed CHTOTSHS60 &6 HeMEUSHGLD FaldLIl6T
G601 SleMelHGLD QenLCul 2 6o & GLD?

A)3:1

(B)1:3

(€)3:2

D)1:z

elenl_: (A)3:1

Solution :

Volume of clinder : volume of cone

mrihs 2 mr’h

1:

w =

=3:1




